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Answer the following questions: A ALY el

=='1. Choose the proper answer: Hiowouall LY s -1

The hormone that increases at the o i 038 33 o o sa el
beginning of the food arriving to 158 Bazall ) aladall J s

. BB WEN]
the stomach is

(A) Gastrin OS gionad oS

Cholecystokinin
(c) Secretin

@ Insulin

O Sl

Give reason for: P e
The timing of Meiosis division

varies according the type of <y pludiY) uf o uha—;
sexual reproduction. A pea s (5 524

Write down the scientific term:
A group of mechanical or Salsall (e de sane
natural barriers in the body Agrphall 5l 4SSyl
that prevent pathogens from GOSN e annly
entering the bodly. ) J 533 (e dua el




Questions (4 — 8):

Study the opposite figure
that shows a series o
polypeptide,

Then answer the

questions:

(e @bﬁdﬂ\&whmﬁ\uﬂ\)d\
¢ Aty aae Al

=m 4. Calculate the number of types of
- amino acids that form this chain.

alaal! t\ﬁj Qe sl

ey & Jas ) Ayl
Allo) 53

Calculate the number of codons
on m-RNA that responsible for
the formation of this chain.

M- <L 52 oS dae Cuwal

GlaS e A gl RNA

Calculate the number of m-RNA
nucleotides.




What is the name of the amino CA Yl aeall anl e
acid (A)?

What are the types of bonds OS5 A s g 5 e
& el (alaa¥) G

that link the amino acids in this

Compare between:

Point of

comparison The Shank The forearm
Al 4a 3

Structure
s i)

-




I
[ |

Show by only a labeled diagram
the gametophyte of Polypodium
plant.

What would happen if the
macrophages didn't have
lysosomes?

cle Al & doasy Bk 211

€ 5,0l Auanll

Write down the scientific term:
Small circular DNA molecules
that are found in the
prokaryotes.

Tl plbaal) 38 12
sl DNA o >

CIRPUPE REHE EACRY




Explain: The ribs play a role in
the work of three different
systems in the body.

 d 14
dae 1) g skl ali

Choose the proper answer:
The area which disappears when

the muscle fiber contract is :

® A

H
Z

owoeall LY A1 -15

sl vie €45 Al dikaial)
o Aliaall A

A (@
I ©

@
©




Questions (16 — 18): : (18 :16) izl
The following figure illustrates some stages of 850 dal ye pany JSEl i

the life cycle of spirogyra algae. In view of Y Y1 cdals sla
this, answer the questions: "3t L A ;jh

When do these stages take place dalall o2a Saai e 416
during the life cycle of Sl s g0 oL
spirogyra?

HBENpY

What is the type of division that Gy gl sl g 53 L

occurs in (X) and (Y)? (Y) s (X) &

What is the name of phase (K)? ¢ (K) bl aul L
Mention the chromosomal e saaall e oS5
number of this phase. ¢l




Mention the site and the D ddagg olSa SN 19

function of the foramen e
magnum. sl i)

The function

O QU 20

Compare between:

Point of nucleotide DNA RNA nucleotide
comparison

Type of
sugar

Sedl g5




What happens in case of the
absence of micropyle from the
ovule of a flowering plant?

cle Al & doaay L 221
Gl 3 ) Ay g (e il

Choose the proper answer:
The TH cells can not recognize
antigens except after its binding
with:

IgM

MHC

CD8

all the above

tdaaal) Lh}’\ Aa-22

Copnill TH DA i ¥
el am V) iyl o

—

gM (O
MHC (&)

cbs &)
Gule IS (D)

SEED3,
[ |

Give reason for : The human
placenta is considered as an
endocrine gland.

b Aapiiall etz Jle 23
. slaall 222l e L)




Write a scientific term: Pl Al cast o -24
The ability of the ovum to fc_)rm S e Ay sl 5,0
an embryo without fertilization .

What is meant by fibrous

joints?

Choose the proper answer: Hiowowall LY i51-26

The Pollen grains are formed by Ll & Ll g (oS
Gk e Rl
Only Mitosis division B8 sl LN (T
Only Meiosis division L (5 5 gaall aludiy)

Mitosis division followed by

meiosis division

Al (5 gaal) bty

Meiosis division followed by

©
4l s sl pluds¥) -
©

mitosis division




-27
Ol (allis Ala 8 Ehasy 13l
4l 5l Alaall 8 A8ULY jilaall

What happens in the case of:
decreasing the direct energy
stored in the gastrocnemius

What is meant by gene

mutation?

Mention the site and the P Aadagg olse ySH 29
function of Sertoli cells. L s A

The site The function




Em3,
[ |

Compare between:

Point of Plasma cells B
comparison B d DL 4l Ll
Al 4a

O QU 30

Natural killer cells
NK Lxgdal) 4500 LA

The
immune
response

ety
Lelidl)

Write a scientific term:

A glandular hormone secreted
from the pituitary gland and does
not affect the other glands in the

L ool pllaall oSt <31
3aall (pe Jo& (628 (e n
s e i Y dadl




Questions (32 - 35): : (135 :32) Al

Study the graphfbelow that s]t]ows Itlhe He blood Aaall Sl JSa) asil

concentration of two types of T cells in the bloo e O 55 S 5 ia g (s2)
: : CHe 5 S S sy (s

of a person and then answer the questions: i o2 (b A LSAY

ﬂ'

The concentration of some
Ivmphatic cells in blood
Al B A glhaslll USIAY Ly 3.8 53

() (<) ()
(A) (B) (©)

(00) WA e sl 232

What are the two types of cells
(X) and (Y)? Fe) s

Explain the increase number in LI dae ) 5 el oy 233
cells (Q) in phase (b)? (@) Wl G ()




=='34. How can you explain the increase (o) W5 s o -34
in the cells (YY) and the decrease

5 () W als
in the cells (X) in the stage (C)? G o) WP oA

=E"35. What are the substances that are la i Al ol sall sl e 35
. secreted by cells (X) and cells §(o=) LAl (0v) L
(Y)?




Choose the proper answer: Lioeowall LY i51-36
During the formation of the human axe el LAl sae 8 33 30

female ova, the stage in which the b by sl 0S5 die Lebrpa
A je (S O5S8 Q)

number of cells increases with the
stability of the number of i L) @

chromosomes is. ...
(») multiplication

PUEN®
growth il )
®

(©) maturation
() metamorphoses

— _ . -37
= 37. What is meant by What is ellaaa 3 guilall La

meant by renucleation? LN Ael )

Write scientific term:
s ealad) llaaal) S

The hormone that stimulates the Gl Sl (abatial ey i ga R
slaa¥) (e alaY)

absorption of monosaccharides

from the small intestine.




LS ae daid au )l ma s -39
=='39- Show by only a labeled diagram w;; UMZ\J ;E:j

the Messenger RNA (m-RNA). M-RNA J s )l

=2"40.  Mention the site and the t Al gy olsa 53 -40
function of the thymus gland.. i gagil) Baad)

The site The function




Choose the proper answer:
DNA sample that contains 4000
nucleotides has 400 nucleotides are

guanine. So, the number of adenine

equals. ...
(& 1400 nucleotides
1600 nucleotides
(©) 1800 nucleotides
(® 2000 nucleotides

Lioeowall LY js1-41
4000 o s siai DNA 4
Ay lSul 400 Lgie 3043 gal<s
AR RUVHPEN
dai el<ii 1400
pai gut<i 1600
pasi oul<ii 1800

pasi gul<ii 2000

Give reason for:
The genetically synthetic insulin
is better than that extracted from

the pancreas of cattle.




o 43.
[ |

What happens in the case of
treating the human genome by

bacterial restriction enzymes?

~43
asiall dldas Alla b sy 13

4 ,uSll uadll il Kb (5 )

Lmm44,
|

Write a scientific term:

The four cells that are produced
from the meiotic division of the
spore mother cells during the

formation of pollen grains.

aluail (pe A3l o Y1 LA

L e A de g yall DA




Questions (45 — 48):

Determine the tyPe_of asexual reproduction
of the following living organisms:

: (48 :45) L)
EIN PV EN L i KN L REREN
Ay Aaaldl

o 45.
|

The bacteria

LAl .45




ET)

u Compare between:

Point of
comparison

Testosterone hormone

1O U 49

Estrogen hormone
g Aal) G ga 8

The site of
secretion

S8 lka

=='50- Mention the site and the
function of the site CCA

The site

P dduhig g ola JSY 50
.CCA gisal

The function

nuu._é.gss.ut_! ULU.OJJ' hubi &0
















